Matrix

The objectives of the task: The formation of the ability of students to use by
yourself methods to the new tasks.

Task Requirements: Calculate the matrix inverse of the matrix A if it is possible
Instructions for performing:

1. Calculate the matrix D. - 1.2 points

2. Calculate the inverse matrix D1, - 1.2 points

3. Available Comments - 0.6 points

Maximum evaluation are 3 points

You need to create a script file with the solution proposed the system of equations
acting on instructions. Attach a script file with the decision and send.

Evaluation criteria: Available Comments, no mistakes.
Variants of tasks.

1. D =2(A? + B)(2B — A), tae
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3. D =3A%— (A+2B)B, rxe

4 5 -2
A= 3 & @ [,
4 2 7

4. D = (A — B?2)(2A + B?), rze
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5. D=%A—-B)(A%+ B), rze

5 ¥ 2 4
A= -10 -2 1 |, B={|3 1
0 1 2 7T 2

. D=(A—-B)’?A+2B, rne

5 -1 3 2
A= 0 2 1), B=f11 -2
% - f B 0 1. 3

. D= (A% - B*)(A+ B?), tne

7 2 9B
A= =1 =2 1 |, B
1 E A

8. D=2(A— B)(A2 + B), tie

5 1 7 2 4
A=| -10 -2 1|, B=|3 1
0 1 2 7 2

9:::D) =24 = (A2 + B)B, rae

1 4 2 4 6 =2
A=:H:2 41 =2}, B={ 4 1§ 4
01 -1 2 4 -5

10. D =2(A—0,5B) + A>B, e

(=]

-]

I
T

11. D= (A - B)A? + 3B, rae

3 2 -5 -1 2 4
A= 4 2 0 § B= 0 3 2
1 1 22 -1 -3 4



12. D =3(A? + B?) —2A4B, rae

4 2 1
A= 3 -2 0},
0 -1 2

13. D =2A% 4+ 3B(AB — 2A), rne

1 -1 0
A B b =1}
1 3 4

14. D= A(A? — B) —2(B + A)B, e

2 31
A= -1 2 4 |},
5 3 0

15. D = (24 — B)(34 + B) — 2A4?B, rae

1 0 3
A= -2 0 1 ],
-1 3 1



